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ME-703 (A) (GS)
B.Tech., VII Semester
Examination, November 2023
Grading System (GS)
Operation Research and Supply Chain

Time : Three Flours _
Maximum Marks : 70

Note: i}y Attempt any five questions.
fo=l aig Al A gt Hfowm)
ii} All questions carry cqual marks.

Tt weAl & WU IfF Bi

iii) In case of any doubt or dispute the English version
question should be treated as final.

et +ft wpR o weg swrET e H Rufa o Ech TN
& 09T &l aifam a1 SR

I. A small manufacturer employs S skilled men and 10 semi-
skilled men and makes an article in two qualitics, a deluxe
model and an ordinary model. The making of a deluxe model
requires 2 hours work by a skilled man and 2 hours work by a
semi-sKkilled man. The ordinary model requires 1 hour work
by a skilled man and 3 hours work by a semi-skilled man. By
union rules no man can work more than 8 hours per day. The
manufacturer's clear profit of the deluxe model is Rs. 10 and
of the ordinary model Rs. 8. Formulate the model of the
problem. 14
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U Bel T 5 ot gont 3R 10 ard-grere gEsi @t A9PTR
&t @ 3R < o A @ avg 99 8, U Sload Aisd SR
T HIURT Hisct| Eeas Aiga & Ao & e wb $aret aafaa
g1 2 5 3R snf-puet &Afda gRT 2 €62 & W BN ATFeGSAl
2t &1 Iy Hise ¥ U@ gt @afad g | He ofR snf-geer
Zfad gRi 3 6 o™ 6 naTsar gt 81 99 & o &
IgaR g off =fay R 8 5 / siftres & Ad o=\
Soraw Aled X Fmfar o e A 10 F9Y 3R [ATURe Jise
UY § HUY g1 THST B Oisd 9aR ax|

Solve by Simplex method: 14
Ry fafty | g1 Fifem :

Maximize Z=272x +x,
Subjectto  x, +2x,< 10
x tx, <6
X, —x,52
x—2x, =1
x,x20

a) Candegeneracy occurin a transportation problem? Justify
your answer. https://iwww.rgpvonline.com 7
71 aRag woen § Rl sSam l waxit 2 s s
aitferea frg X1

b) Find the imtial basic feasible solution to the following
transporation problem by North-West cormer rule. 7
IR-qfeeH B & Fram gr1 FrafaRea oRag awwn @

R I iua T SR SR
To Supply
2 7 4 5
From 3 3 1 8
5 4 7 7
1 6 2 14
Demand 7 9 18
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a) Explain what is Bull-whip effect in SCM? 7
e g 5 SCM ¥ geT-f@q v Fa1 27

b) Discuss what is cross docking? What are its
disadvantages? 7

=t ¥ b ehi SIfehT T 8 7 39 391 B &2

. A company uses 1,200 units per month of an electronic

component each costing Rs. 3. Placing each order costs
Rs. 60 and the carrying cost is 8% per year of the average
inventory. 14

i) FindEQOQ
ii) Ifthe company gets 5% discount on single order, should
it accept the discount offer.

iii) Find discount percentage which matches EQQ ordering
for a single order. :

T d-t i T8 1,200 e 39eie 9T o I9aNT FRet

2, o 9 oA & Himd 3 T & A0S WS 3 Hi Anrd

60 T & 3R o S & o sitaa 3=iET @ i af 8% 21

i) EOQ Wil

ii) af FU B T AT W 5% DI g Pocdt &, A ey
feepIde JffoR FIPR T 91eg ?

iii) Tpa AR F frg EOQ TR & A @ aren g wfyea
EIG RG]

6. a) How competitive advantages can be achieved using

MRP? 7
MRP &1 IR Fxeh wheauiers o & wmw e o
qFATE?
b) How SCM is linked with e-business? Explain, 7
SCM $-f<H9 A FQ 1 2?7 Au=mEy
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a) Define a queue and explain the various queue disciplines.
7

Teh AR Pl URATRT P iR At sar [edi & amsAr
Gl

b) In abank, 20 customers on the average, are served by a
cashier in an hour. If the service time has exponential

distribution. What is the probability that it will take more
than 15 minutes to serve a customer. 7

o ¥ N, 1 HRER gr o ue § aitaet 20 g B
Qa1 yer At el 21 3y Y91 997 @ gaiba A 8@l
=) a1 withd 2 5 o oes e Jar e F 15 A |
stferr @9 Fm 7

a) What docs a critical path actually signify? In what ways

does it differ from any other path. 7
HTATATAHS U Iad J Fa7 gufar 2 7 48 it o/ qu
? fre verR A 27

b) PERT calculations yield a project length of 60 weeks with
variance of 9. Within how many weeks would you expect
the project to be completed with probability of 0.997 7

PERT 0T & 9% 3iaR & 9y 60 9a1E H aRas=n i
oo WTH Bl 81 3 0,99 i WEen & wrer fha |eE
& Hiax afmiorn & g 89 & Iedlg a7
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